



                                                                       Cristina Frick

The data I looked at was from a site called DrDriving.org. The site is written by two driving instructors with PhD’s (Dr. Leon James and Dr. Diane Nahl) who have done extensive research on people’s driving habits. In this particular set of data, men and women are asked to rate the frequency of various driving behaviors. The frequency is collected in terms of percentages. The data was also tabulated from the standpoint of USA data and Canada data (this data combines both men and women). Examples of data collected include frequency of the impatient behaviors you commit as a driver, frequency of hostile behaviors you commit as a driver, and frequency of road rage behaviors you commit as a driver, among others.  

****************************************************************************************************

My null hypothesis (Ho) for this data is that 70% of men have engaged in swearing or name-calling while driving, while Ha would be that this is not the case.

This is of particular interest to me as a psychology major because swearing and/or name-calling while driving is an indicator of aggression, which has many psychological implications.

Test and CI for One Proportion 

Test of p = 0.7 vs p not = 0.7

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       405  686  0.590379  (0.552527, 0.627450)    0.000

In this case, we would reject Ho because the exact p value is less than 0.05 and the p value (0.7) does not fall within the confidence interval.

As it turns out, after studying the actual research, only 59% of men have engaged in this behavior.

**************************************************************************************************

Along the same lines, my null hypothesis (Ho) is that 50% of women have engaged in swearing or name-calling while driving, while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.5 vs p not = 0.5

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       205  360  0.569444  (0.516512, 0.621226)    0.010

We would reject the null hypothesis for this data because the exact p value is less than 0.05. The p value (0. 5) also does not fall within the confidence interval.
After analyzing this particular data and the actual results, it turns out that in reality, 57% of women have actually engaged in swearing or name-calling while driving. This percentage was higher than I had previously guessed.

Another interesting finding was that after looking at the actual data, it turns out that men have only a slightly higher percentage in terms of swearing and name-calling while driving, with a difference of only 2%. This is actually not a significant statistical difference. I had guessed that the men would be more aggressive simply because of how they are socialized.

My null hypothesis (Ho) is that 70% of men and women combined in the U.S. have engaged in swearing and name-calling while driving, while Ha would be that this is not the case. This is interesting to me and others in the fields of psychology and sociology because it studies an entire culture’s behavioral patterns.

Test and CI for One Proportion 

Test of p = 0.7 vs p not = 0.7

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       441  761  0.579501  (0.543519, 0.614863)    0.000

In this case, we would reject the null hypothesis because the exact p-value is less than 0.05. Also, the p value (0.7) does not fall within the confidence interval.
After analyzing the data, it seems that perhaps Americans are less aggressive than I thought they were…in reality, only 58% of the population has engaged in swearing or name-calling behaviors while driving.

****************************************************************************************************

My null hypothesis (Ho) is that 55% of men and women combined in Canada have engaged in swearing and name-calling while driving, while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.55 vs p not = 0.55

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       171  285  0.600000  (0.540572, 0.657326)    0.096

In this case we would accept Ho because the p value (0.55) falls within the confidence interval, and the exact p value is greater than alpha (0.05).

Although my hypothesis in this case was fairly close to being correct (there was a difference of only 5%, with the actual percentage being 60%), I have to admit that I am surprised by this data. According to this data, there is no significant statistical difference between the number of Americans who commit these behaviors and the number of Canadians who commit these behaviors. Canadians report that 60% of the population engages in these behaviors, while only 58% of Americans do so. I assumed that because the United States is built around a culture of rushing, we would have a significantly higher percentage than Canada.

****************************************************************************************************

My null hypothesis (Ho) is that 35% of men would tailgate dangerously while Ha would be that this is not the case.
Test and CI for One Proportion 

Test of p = 0.35 vs p not = 0.35

                                                   Exact

Sample   X    N  Sample p         95% CI         P-Value

1       96  686  0.139942  (0.114846, 0.168181)    0.000

This means we would reject the null hypothesis for this data because the p value (0.35) does not fall within the confidence interval and the exact p value is less than alpha (0.05).
My related null hypothesis (Ho) is that 20% of women tailgate dangerously while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.2 vs p not = 0.2

                                                   Exact

Sample   X    N  Sample p         95% CI         P-Value

1       32  360  0.088889  (0.061595, 0.123167)    0.000

This means we would reject the null hypothesis for this data because the p value (0.2) does not fall within the confidence interval and because the exact p value is less than alpha (0.05).
The actual data showed that 14% of men tailgate dangerously while 9% of women do it. While the men did have a higher percentage than women as I expected, the overall percentages were lower than I expected. This makes me optimistic that maybe people aren’t as hostile while driving as I thought.

****************************************************************************************************

My null hypothesis (Ho) is that 90% of men would speed 5-10 mph while Ha would be that this is not the case. 
Test and CI for One Proportion 

Test of p = 0.9 vs p not = 0.9

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       631  686  0.919825  (0.896918, 0.939033)    0.076

This means we would accept the null hypothesis for this data because the p value (0.9) falls within the confidence interval and because the exact p-value (0.076) is greater than alpha (0.05).

My related null hypothesis (Ho) is that 80% of women speed 5-10 mph while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.8 vs p not = 0.8

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       335  360  0.930556  (0.899191, 0.954558)    0.000

This means we would reject the null hypothesis for this data because the p value (0.8) does not fall within the confidence interval and because the exact p value is less than alpha (0.05).
 The actual percentages were higher for women than I expected, with 93% of women engaging in this behavior and 92% of men doing so. This leads me to believe that women are just as impatient as men while driving.

****************************************************************************************************

My null hypothesis (Ho) is that 25% of men would deliberately cut people off while Ha would be that this is not the case. 

Test and CI for One Proportion 

Test of p = 0.25 vs p not = 0.25

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       130  686  0.189504  (0.160835, 0.220873)    0.000

This means we would reject the null hypothesis for this data because the p value (0.25) does not fall within the confidence interval and because the exact p value is smaller than alpha (0.05).
My related null hypothesis is that 15% of women would engage in this behavior while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.15 vs p not = 0.15

                                                   Exact

Sample   X    N  Sample p         95% CI         P-Value

1       36  360  0.100000  (0.071026, 0.135750)    0.006

This means we would reject the null hypothesis for this data because the p value (0.15) does not fall within the confidence interval and because the exact p value is smaller than alpha (0.05).

In actuality, 19% of men and 10% of women engaged in deliberately cutting people off while driving. I was about right in terms of the fact that the men have a 9% higher percentage than the women. I was also at least in the ballpark about how many people engage in these behaviors altogether.

****************************************************************************************************

My null hypothesis (Ho) is that 50% of men have yelled at another driver while Ha would be that this is not the case.
Test and CI for One Proportion 

Test of p = 0.5 vs p not = 0.5

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       233  686  0.339650  (0.304237, 0.376450)    0.000

This means we would reject the null hypothesis for this data because the p value (0.05) does not fall within the confidence interval and because the exact p value is smaller than alpha (0.05).

My related null hypothesis (Ho) would be that 50% of women have yelled at another driver while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.5 vs p not = 0.5

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       112  360  0.311111  (0.263627, 0.361735)    0.000

This means we would reject the null hypothesis for this data because the p-value (0.5) does not fall within the confidence interval and because the exact p-value is less than alpha (0.05).

In reality, 34% of men and 31% of women have engaged in this behavior. I was correct that there is no statistically significant difference between men and women in this regard, but the overall percentages were lower than I expected. Again, I’ve come to the conclusion that maybe I’ve been a little pessimistic about drivers.
************************************************************************
My null hypothesis is that 75% of people in the U.S. honk to protest while Ha would be that this is not the case.
Test and CI for One Proportion 

Test of p = 0.75 vs p not = 0.75

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       266  761  0.349540  (0.315644, 0.384607)    0.000

This means we would reject the null hypothesis for this data because the p value (0.75) does not fall within the confidence interval and because the exact p value is less than alpha (0.05).

My related null hypothesis is that 60% of Canadians honk to protest while Ha would be that this is not the case.

Test and CI for One Proportion 

Test of p = 0.6 vs p not = 0.6

                                                    Exact

Sample    X    N  Sample p         95% CI         P-Value

1       131  285  0.459649  (0.400721, 0.519425)    0.000

This means we would reject the null hypothesis for this data because the p value (0.6) does not fall within the confidence interval and because the exact p-value is smaller than alpha (0.05).
In actuality, 35% of people in the U.S. honk to protest while 46% of Canadians do so. It is surprising to me that Canadians do this more often than Americans. I usually think of America as a very rushed culture, and therefore I would think our percentages would be higher in this area. This can be interpreted in one of two ways. It is possible that Canadian drivers are more aggressive in this area. It is also possible that maybe Canadians express impatience by honking while Americans express impatience in even worse ways. The actual data, however, doesn’t seem to show that this is the case.

                                               Conclusion

Overall, I have learned that there is not a huge difference between men and women in terms of driving aggressively. I think this is because America is such an impatient, rushed culture that everyone (men and women) drives aggressively. However, oddly enough, it seems that Canadian drivers may be more aggressive than American drivers. I cannot account for this difference, but I think it’s interesting. Overall, this project was interesting to me as a psychology major and revealed some surprising information about aggressive driving.
